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Gyd;nkhopj; Nju;T 
 

Nfl;lYk; tpsq;fpf;nfhs;SjYk; 
 

m - gFjp 

xypapWntl;by; xypf;fg;gLk; ciug;gFjpiaf; Nfl;L> tpsq;fpf; nfhz;L> 
fPo;f;fhZk; $w;Wfs; rupahapd;  vdTk;> gpioahapd; vdTk; fl;lj;jpDs; 
milahskpLf.                                                                                                       

 

1. rq;ffhy ,yf;fpaq;fs; mfk;> Gwk; Mfpa  

  ghLnghUs;fisf; nfhz;lit.   
 
 

 

2. rq;f ,yf;fpaq;fisg; gjpndz; Nkw;fzf;F Áy;fs; vd;W  

  $Wtu;. 
 

 

3. rq;ffhyj;jpw;F mLj;j fhyj;jpy; vOe;j ngUk;ghyhd  

  ghly;fs; Gwj;ijf; fUg;nghUshff; nfhz;lit. 
 
 

  

4. gjpndz; fPo;f;fzf;F Áy;fSs; jpUf;FwSk; xd;whFk;. 
 
 

   

5. gy;ytu; vDk; Ntw;wpdj;jtu; fsg;gpuiuj; njhlu;e;J jkpou; 
  epyj;ij MSif nra;jdu;. 
 
 
 

 

6. gy;ytu; Ml;rpapy; gf;jp ,yf;fpaq;fs; gy Njhw;wk; ngw;wd. 
         
                   
 

7. Nrhou; Ml;rpapy; jkpo; nkhopAk; jkpou; epyKk; cau;e;j  

  epiyia mile;jd. 
 
 

 

8. Nrhou; Ml;rpapd; gpd;du; Vw;gl;l murpay; khw;wq;fs; 
  jkpo; ,yf;fpaq;fspy; nry;thf;Fr; nrYj;jtpy;iy. 
 
 

 

ngau;: 

 

; 

ehs;: rdpf;fpoik

 

; 

(8 x  ½  = 4 Gs;spfs;) 



 

  

M - gFjp 
 

 

 xypapWntl;by; xypf;fg;gLk; Neu;fhzw;gFjpiaf; Nfl;L> tpsq;fpf; 
nfhz;L fPo;f;fhZk; tpdhf;fSf;F tpil vOJf.   

 

1. ,yf;fpag;nghopy; epfo;r;rpia elj;Jk; ,iza thndhypapd; ngau;    
  vd;d? 
 

     ___________________________________________________________ 

2. nrd;w thu ,yf;fpag;nghopy; epfo;r;rpapy; tpsf;fg;gl;l Áypd; ngau;   

  vd;d? 
 

     ___________________________________________________________ 

3. ,dpait ehw;gJ ÁypYs;s ghly;fspd; vz;zpf;if ahJ? 
 
 

     ___________________________________________________________ 

4. mLj;jthuk; ghu;f;fg;glTs;s Áypd; ngau; vd;d? 
 

 
 

     ___________________________________________________________ 

5. thue;NjhWk; ,yf;fpag;nghopy; epfo;r;rp eilngWk; ehs; vJ? 
 

 

 

     ___________________________________________________________ 

6. ,yf;fpag;nghopy; epfo;r;rpapy; $wg;gLk; nra;jpfspy; Vw;gLk;    

  Iaq;fis vjd; Clhf mDg;g Ntz;Lk;? 

 
     ___________________________________________________________ 

                                                 

 

 

 

 

 

 

 

 

(6 x  1  = 6 Gs;spfs;) 


